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End-of- Module 2 Review

Eli is going on q vocotion ond buys pretzels qnd corrots to bring in the cqr. The
pretzels weigh 814 groms, qnd the cqrrots weigh 453 groms. Whqt is the
differencB b4rtween the weight of the pretzels ond the cqrrots?
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Sqrqi drinks qbout ll5 L of wqter in one month.
q. Round to the neqrest ten how mony liters of wqter Sqroi drinks in one

month.
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b. Use your estimote to find obout how mqny liters of wqter rlqIqi drinks in !_

r{:,

c. Colculote preCiseft he6 much wqter Sorqi drinks in 3 months.
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d. Drqw o tope o,onffi4frd the difference between your estimote qnd
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3. Reogon just went grocery shopping qnd the weight of one grotery bog is 15

o. Reogon tifts 4 bqgs of the some weight. Round to the neqrest l0 to
estimqte the totql weight Reogon lifts. Then colculqte the number exoctly.
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b. Reogon's friend, lsoee, lifts grocery bogs of 100 kilogroms. Write qnd solve
qn equqtion to show how much more weight lsoee lifts thqn Reqgqn (in
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c. Together, it tqkds Reogon ond lsqee 23 minutes to fi'tood oll of the

groceries. lf they stqrt unlooding the groceries qt 9:25 pm., whot time will
they finish unloqding the groceries? Use q number line to help you!
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5. Rishon goes to Sqfewoy to 6uy chocolqte chip cookies. Yum! He gets to the store

qt 3:31 qnd leoves the store qt 3:57. Use o number line to determine how mqny
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4. When driving, Mrs. Bower uses 56 L of fuel every minute.
ct. Round to the neqrest ten liters to estimqte how mqny liters of fuel get

used every minure. 
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Mrs.Saucr usts abou* boL '
b. Use your estimqte to find obout how mqny liters of fuel gets used 3

minutes' bot-+boL+tooL = lSou
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ColculXf precisely how mqny liters of fuel gef used every 3 minutes.
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